SN—3071

B.Com. IIIrd Semester
Examination 2024-25

COMMERCE
Cost Accounting
Paper : BC-301 M]J

Time : 3 Hours) [Max. Marks : 75

Note :- This question paper consists of two Sections ‘A’
and ‘'B’. Attempt any five questions from
Section "A" of which each question carries 06 marks

and any three questions from Section ‘B’ of which
each question carries 15 marks.
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» 1. Define Cost and Cost Accounting.

23.

wma?r{awm‘mﬁmaﬁqﬁwfﬁamqr

Write the characteristics of an ideal system of Cost
Accountng.
wmimé@q:gﬁaﬁﬁﬂwmﬁaﬁma

Distinguish between Direct Expenses and Indirect
Expenses.

Ts Al 3R I9EY FJF H SAdR wifeg
What do you mean bv A B C analysis ?
3 o ¥ favesor ¥ 39 &= guzg § ?

Describe the nver absorption and under absorption of
factory overhead.
FREME U] & =7 41 3fY AT hl FEFE

C-171 (2)

https://www.sdsuvonline.com


https://www.sdsuvonline.com/

ber of units initially introduced 11

I when normal wastage is 10% .5% and 8:9 Icg
the input in process 1. process 1L. and ?;oec(iezIOCk
respectively. There aré 3 933 units of th-e fir_us 1 = thé
There was no ahnormal Loss Of Effective inany O

6. Find out the numn

process

prncesses.
meﬁﬁﬁﬁﬁﬂﬁfgﬁ?ﬁﬁmmm
Wmmuﬁml.uﬁmn.@m’ﬁmﬁm
it gl @ wEw: 10%, 5% Td 8% ¥ ffEa =
3.933mﬁmﬁlﬁ;ﬁmﬁﬁwwm

SgETg S=9d T8l Al
7. Give a specimen format of Reconciliation Statement.
oA a1 wiEy ifea
8. Explain the Marginal Costing.
Hrar=a arTa 9gia bl EEERT|
Section-B
(@ -®)

Long Answer Type Questions

(S IFT0T w9A) 3x15=45
Note :- Attempt any three questions. Each question carries
15 marks.
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;1. What do you understand by cost Accounts. Discuss the
difference between Financial Accounts and Cost

Accounts.

ST S@ieh ¥ AN ¥ 96wa § 2 fadi draie sin
AT @ § 3R e shifag |

;2. What do understand by 'Economic Order Quantity' ?

How is it determined ?

faqerat 3TRYT HIET Q@ 39 =1 §EFQ & 2 3T fauf
fFog yeR @ feg ST & 2

3. Describe the methods of remunerating labourer according
to Halsey and Rowan method.
gfuenl = afefos 23 &1 'ed w@ a1 9ol = avi
Hifsa |

4. From the following information, prepare a Cost-Sheet

showing cost per unit and show the profit for the month

of March 2023 :
L 4
Raw Material Consumed 80,000 |
Direct Wages 40.00 ||
B.M |

Direct Expenses
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\achine worked hours - 640

Machine Hour Rate X 50

Office Overhead - 50% of Work Overhead

Selling Overhead - ¥ 1.50 per unit

Units Produced -- 4.000

Units Sold - 3.600 at ¥ 50 each

SRTA-95eh g FITa0 91 "/, 2023 &1 &Y 2913y

L 4

Hedl W 9 80,000
wgs A 40,000
a8l =g 8.000
TYi= g} i & €2 - 640
T =wwer g T 50
wFHratera 3fEma - 50% FREF I9fETT W
fast safeega - T 1.50 ufa 3¢
Ieqfza geh1al - 4.000
o= T ¥EEEl - 3.600 wfa 3@ E T 50
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« What do you mean by Tender Price ? How is i
calculated ?
fAfamt goa @ 3ma &0 oz & 7 sw= o fRw ymn
®1 AT B ?

d Nipun who is a contractor commenced contract on 1st
January, 2019 and completed it on 31st December, 2019.
With the help of the following information, find out the
contract price of the contract :

T

Material issued 50.000
Wages 50% of Materials
Plant 30.000
Sundry expenses 50% of Wages
Material in hand on 31st December, 2019 1.000
Charge depreciation on plant @ 10% per annum
Profit on contract 10.500
forqo < T 2deR & IR 1 A, 2019 & 3 14
& faran str 31 e 2019 @ O ) frnle
a4 2@ J1 @A T B
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T

Frffoa STl 50.000
gy, gt &1 50%

ERE 30.000
fafas =99, g5ied @1 50%
31 few=, 2010 =1 T Il 1.000

e = 109% 9fa asl &t = F BE =S HIfAY
I G TN 10,500
6. From the foliowing data. show the cosl of three process

of manufacture. the production ol each process is passed

on to the next process immediately on completion :

I'rocess Process Process

‘A ‘B’ c’
4 T T

Materials and Wages 30.400 12.000 29,250

Work overhead 5.600 5.250 6.000

Production in units 36,000 37,500 48 000

Stock on 1st July, 2018

(units from preceding process) - 4,000 16,500

Stock on 31st July, 2018

E_“f_lfls from preceding process) - 1,000 5.500

0-171 (7) P.T.O.

I https://www.sdsuvonline.com


https://www.sdsuvonline.com/

ﬁmﬁﬁjﬁmﬂﬂ‘mTWMMHﬂ%
femmsn | wmmmwmwmm
g 1 99 faemn o #

SEA afEE yfg

- - -
L4 4 L4

A § 9REiEs 30400 12000  29.250
FRE@M I 5.600 5.250 6,000
39T geEEl § 36,000 37.500 48,000
| Seird, 2018 &1 wWia

(LaTd ufswan @ 3R 4,000 16,500
31 eI, 2018 1 ®la

(g ufsrar ¥ gma) - 1,000 5500
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